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MI-501-CBGS
B.Tech., V Semester
Examination, June 2020

Choice Based Grading System (CBGS)
Mining Surveying - II

Time : Three Hours
Maximum Marks : 70

Note: i) Attempt any five questions.

{H$Ýht nm±M àíZm| H$mo hb H$s{OE&

ii) All questions carry equal marks.

g^r àíZm| Ho$ g_mZ A§H$ h¢&
iii) In case of any doubt or dispute the English version

question should be treated as final.

{H$gr ̂ r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ̂ mfm
Ho$ àíZ H$mo A§{V‘ ‘mZm Om¶oJm&

1. a) Explain how the accuracy of old mine planes are
checked? 7

nwamZo ‘mBZ ßbmZ H$s gQ>rH$Vm (E³¶yaogr) H¡$gr kmV H$s OmVr h¡?
dU©Z H$a|&

b) Illustrate various types of mine plans and describe their
general requirements. 7

{d{^Þ àH$ma Ho$ ‘mBZ ßbmZ Xem©Vo hþ¶o CZHo$ gm‘mÝ¶ JwUm| d
Amdí¶H$VmAm| H$m dU©Z H$a|&
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2.  a) Describe various uses of theodolite in mine surveying.
Explain how a theodolite is more accurate then other
instruments? 7
‘mBZ gd}B§J ‘| theodolite  Ho$ {d{^Þ Cn¶mo{JVmAm| H$m dU©Z H$a|&
{W¶moS>mobmBQ> {H$gr AÝ¶ CnH$aUm| go Á¶mXm E³¶yaoQ> (gQ>rH$) h¡,
dU©Z H$a|&

b) Explain temporary and permanent adjustments of
Theodolite. 7
{W¶moS>mobmBQ> Ho$ AñWmB© d ñWmB© ES>OñQ>‘|Q>g H$mo g‘PmB¶o&

3. a) Describe how will you determine the constants of a
tachometer? 7
Q>¡H$mo‘rQ>a Ho$ H$m§ñQ>¢Q>g H$m {ZYm©aU H¡$go H$a|Jo, dU©Z H$s{O¶o&

b) Sketch and describe planimeter and its uses. 7
ßbmZr‘rQ>a H$m g[MÌ dU©Z H$a| VWm CgH$s Cn¶mo{JVm na àH$me S>mb|&

4. a) Enumerate main sources of Errors in theodolite
surveying. 7
{W¶moS>mobmBQ> gd}jU ‘| CËnÞ hmoZodmbr Errors Ho$ ‘w»¶ òmoVm| H$s
ì¶m»¶m H$a|&

b) How these errors can be prevented? 7
BZ Bag© go H¡$go ~Mmd {H$¶m Om gH$Vm h¡?

5. a) Illustrate and explain the parts and elements of a simple
curve. 7
gab ({gånb) H$d© Ho$ {d{^Þ nmQ>©g d Ad¶dm| (Ebr‘|Q²>g) H$m
g{MÌ dU©Z H$a|&

b) What is meant by transition curve? Why a transition curve
is needed on roadways and railways? What conditions are
to be full filled by it? 7
'Q́>m§OreZ' H$d© go ³¶m A{^àm¶ h¡? g‹S>H$nW ¶m aobnW na Q́>m§OreZ
H$d© H$s Amdí¶H$Vm ³¶m| n‹S>Vr h¡? BgHo$ {b¶o H$m¡Z-H$m¡Z-gr
pñW{V¶m± Oê$ar hmoVr h¡?
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6. a) Explain the adjustment of a geodetic quadrilateral by the
method of least square. 7

brñQ> ñ³dm¶a {d{Y Ûmam {H$gr {O¶moS>o{Q>H$ ³dm{S>boQ>oab H$m
E‹S>OñQ>‘|Q> H¡$go {H$¶m OmVm h¡, dU©Z H$a|&

b) Explain various symbols used in mine plans. 7

‘mBZ ßbmZ ‘| à¶w³V hmoZo dmbo {d{^Þ {MÝhm| (qg~ëg) H$m dU©Z
H$a|&

7. a) Explain how the measurements of height and distance of
accessible and inaccessible points can be taken by a
theodolite? 7

{W¶moS>mobmBQ> Ho$ Ûmam accessible d inaccessible q~XþAm| go D±$MmB©
d Xÿar H¡$go ‘mnr OmVr h¡, {dñVma go ~VmB¶o&

b) What is the weight of an observation? 7

{H$gr Am°ãOd}eZ Ho$ doQ> go ³¶m A{^àm¶ h¡?

8. a) Sketch and describe a Vernier theodolite. 7

da{Z¶a {WAmoS>mobmBQ> H$m g{MÌ dU©Z H$a|&

b) Describe the principles of stadia methods. What are the
merits of the two systems? 7

ñQ>o{‹S>¶m ‘¡WS>g² Ho$ {gÕm§Vm| H$m dU©Z H$a| VWm BZ XmoZm| {gñQ>‘ Ho$
JwUm| H$s ì¶m»¶m H$a|&
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